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I 7oRY 97080 an - completing the 1w of liability with permissible material
a 1INy ’7 owanar i only applies to Pn MR (v. 1)
i pyrralsoropn va(v.2) - follows 8" who infers expansion from 3 (v. 2)
ii  (also ynn —he mentioned y1opn Y2 to demonstrate need for n1a (contra »ar))
1 »ax:should apply to all morR
(a) proof: mwn (DY 9120) — if 7120 touches soup with nmIN spices in it, spot he touched is Xnv
(i) reason:because a non-jn3 gets MmpYn for eating a n>1>
1. ™o if he eats a 13 of the mix (2>MORY qIV%N I*N)
2. rather — if he eats a full n’t> of NN within ©79 N%OR *1
a.  challenge: is ©1a N8 73 really ®n»mrT? If so, why do o'non disagree with 8" about
liability for eating *>220 nm> on noa (it includes a 13 of ynn within v1a NYIR)
3. answer: a 13 of NM cannot be “normally” eaten within that time
(b) 2 challenges to position that Xn»7IRT 8”8 *122 1712 - from AMIN
(i) if there were two spice grinders — one for nm7n and one for P9 M and they stood in front of two pots
— we assume the nmAn fell into the MmN and PN into YN
1. challenge: if you claim Xn»7IRT 8”R *132 013, why do we rest on that assumption? (we should be
concerned that there is 8”821 n’1 in the P57 pot)
2. response: if, on the other hand, you claim 7108 99030 9n’h — same problem
3. answer (to both): it’s nmIn of spices — 11277
(ii) if there were two crates of wheat, one nm7n the other 91 and they were dumped into two
containers — one MM, the other 5N — both are permitted
1. challenge: if you claim Xn»7IRT 8”R *132 n°13, why do we rest on that assumption?
2. Pre-empt: position of MRy 97080 n°n works, since that only applies if the 11o8 is majority —in
this case, we could argue that there is more pn
3. Answer: 132797 — NN 1012 NN
2 Alternate suggestion (»72a8): perhaps nwn (v. 1) is there to teach 1p’»3 nyv instead of MNORY 470N 1N
(a) Note: why did he make this suggestion after defending that ... 970%n an°n should be universal?
(i) Answer: after all of these answers, he considered the possibility, based on a xna:
1. x17292: nwn = »"v: if grapes soaked in water makes water taste like wine 2 a»n
a. Application: to everywhere else, via v'p
i. v is weak, since it is temporary, not an nRin MR and can be released
ii. D797 'N57: is stronger, as it is permanent, NR1N2 OR and cannot be released
iii. note: same applies to n%7Y, except for permanence
b note: ynar "v's statement was only a commentary/explanation of " and not normative
i Question: which statement of "?
1 Suggestion #1: our nwn (soaking bread with wine)
(a) Rejection: perhaps in that case there was a n’r> worth of wine, teaching contra opinion of n1ywx3 nwn that
the 1w for wine is nr
2 Suggestion #2: Rn»1— y™ says that if you take bread and soak it with wine and a 711 eats n1 of bread — 2»n
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